Solve the following differential equations. SCORE: /30 PTS

. ) 2
]  ydy+(y* +xy')dx=0 FINAL ANSWER: 3”3‘-5 e Ji + (e
I POINTS i
[b] 2rdr+(1—~rztan6)d6=0 : FINAL ANSWER: F“'cos @ + Siva 9 G
P PzO”\zY:S Az
[c] @=x(x2—32) | FINAL ANSWER: —{:Ge'%‘;CxL
di - 1x 1) ‘
g FPOITS
[« ] %‘j e xji RERNOVLL|
Lt g
N = rf:l'—_—'gi’l (jf;\/ o
dv 34 s ’%,Q'L
Ml ) EL% OQ a%H B ax,
) ' 2
o en dgd L FEVA G TR i
\_lj TJ% £ /2 = 2>< A\ & .a; +F\/ i
B e frde o
v i —
= = 1)( = <05 =
dx 2\/_.__&_1 L_A}__——f/"”_‘ . .
: e i
~2x B ¢ o e
e f—j—i‘ - Q ”7)(\/: QX@?X WL&_’S_%———*— Qe/ /
e v2if xePdxr C ) Q\«%
Y, <@ &=
i ’fj,li—eﬁi__—l_ C 2 ‘,%_@—M
\/ = i 2% O %?@-V
A el & s’
Y= mx —prce”
'L_‘____.__ -}

NO  PARTIAL CREDIT IF YouRr CHECLPOINT
WHRS  MISSING | |NCORIEL 0w ROGUS



6] M=2r N=l-r 4l
MB:O Nr: ’QW%W@ :

’i:g—d- o b

; = ”"*’C’}ne FunCToN of OV @
~ | i

J dondO _
ﬂ 'V\lcosei Se

(S 0059
dU:“ -Smea‘g

2reesO e+ (cosD - r*5m@)elO <O

e —

M N
= DrsmB =N, exrct v«

f= ,ri?-rcoﬁaalr =i 0039+ @) .
- “ezemB - CB)- cosD -2

CLQ) Sm@ |
m@ + 51\'\@ C_—/
e AN NO PAIZTIAL (ZED
bl L(y 0D el gig;ig dt=0 \onum@:ezm:}
M 4 WAS MISSING,

M Ly, L) e bmllog L= e £> = £2 MG t) INcorRE
M by k)= kx G4 BXL) P D2 NG ou_BOEUS

o MOG)L}\SEDOS
vt dx= vdbetdy

{(vl’(f {>Cvat*tc4v>+ it (Bt«v“*t>dt O
( 37 gv‘@ﬂf%{?’)&t* (At - tDdv=0
Qvt dt C\/ Sy =

- JEaeep )5 - Ja- v
[n 1l = Snlvli—4v*- &
@_g{;cj__zln - G)Y-C
'bq: Cx* “X/L
t”(’
’U’Q%":C,x?’



ALTerATE SoLuTian) For- Lb]

% ose oW 1 vepsSion forn GRADIN G
—-cdf:‘@ -3 r‘}ﬁme = ’JQ:r - BQZI\JD\}LL/)
e T e
g A
@_\_/;)(M r’;\/%—é%zj{,\/"“/
45 46 OQ . i
Lyl - Lyl D= -5v T
2 ds —rHenB = 7| 1o R }_____.-—___..J
e L R UIRiBdD . tnlezs®
B B, =T O
Co‘-/a:g" Vo B= - cos g,'u—\’b&\é Ej._é—;fi’ :-Smf? o
cosO)v = 5'0@39(5)9%
= ~ S NO PART 1AL CREDIT
W = _%9+ Cko@

1= YOour. CH&EILPOINT

1___: —Aen O (5B,

WAYS MISSING, INCO RRECT

O ROCLS



ALTERNATE SOLUTIoN Fop. (o]
OQ X Use oNLY L verSion For crAING

frex | dbs vdni el
v (v x (B v+ x ) =0
W= 255 30050 ag?) A+ (BvxT-x D clv=0
gﬁﬁ% dx 1 &4 (3 D v @l
J‘;? dx = J =3y ci\J\/ = ([Ev2-2v v

2yv?
‘V\}Xl e 'ZJFL\/;L—'%_ }r\'\/l St

Al x| f§)¢wé}\h]fg—}#cJ
X4 2 (@t
e -
'tbe%” = C'XT

i

\




(y (kx"’" —t}) CIY +(3t A XZ)CJt AL’TCYLNAT'—TE 'SC)LJJFWQ

Fore (e
6“*:’”5‘5/-*" ok =74 f% VUSE ONLY i\/dlﬁ@:d
(.tf’l«'” _L,-\r’l A.+3 L A2 b+1 pOQ CQAD
. X )clx + (B't t“ b+?>
o R i N e e et
M M

M= e DT ub+> _ (o @piE
Nx = 7> U’p*—'])L{ ”){L — (lgw 3>)CQXL+2

o\ = — gy
—lo+2)= Z(buD

L HeD -_bb'-':"’l Sy o
OUREEE | S - *
(k% — %) Ay~ (TR = O
e a

f = J(tq’s« ~~""Ydx

- Skl LB 3
{'t g j;:%i” r CIEY = 2O S ND P2 TIA L
Clik)= 2ala) eEDT P
Jitplxl""] i )] | 2ol YOULR. CHECEPOIN
2 = C WAS MISSING,
™ INCORRECT R
P %6 = (o ROGUS

e——



